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Questions/Main Ideas: Notes:
How do you solve
Quadratics Equations Warm up:
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The Quadratic Formula

_ —b ++Vb?% —4ac
- 2a

X

In order to use the Quadratic formula the equation must be equal to
zero.

Steps to Using the Quadratic Formula:
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4){9\, -ax+9

Swep\

J.bx’;‘:- CPX —‘-‘q
—4y* - d¥*

O= -4x?-9x +9

o= *q
b= -9
c=9
Exp 3
N= —prAd-dac

XA

= ()£ DD (2)
A(-4)




i
Solve:

o L e

SN — = =
0=%
b= -
L=~

x= —brdP-Yac
=2 G

x= —(-1) tf(—l/)"—Q(DD(-ﬂ
2 ()

X = |i~l|+—SZg
N

CUET L[

.

) 9 4




Solve:.
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